120 Belmont Drive
Somerset, NJ 08873-1204

american fibertek Phone: 732.302.0660 Fax: 732.302.0667

Assembly Instructions
ENC-1P Pole Mounting Kit

{-m-:aax 75 SCREW
ENC-1P included hardware:

#10-32 x 0.4375 Screws (4)
#10 Flat Washers (4) #10 FLAT WASHER
#10 Lock Nuts (4)
Mounting Flanges (2)
Metal Clamps (2)

POLE MOUNT BRACKET

/"
V.
/ i

#10-32 LOCK NUT}

CAUTION

The mounting flanges have very sharp edges where the flange is intended to grab onto
the pole. Handle the flanges with care to avoid injury when mounting the flanges to the
enclosure and when mounting the enclosure to the pole.

Procedure:

1. Attach pole mount brackets to the enclosure with provided hardware as shown
in the figure above.

2. Besure all screws are securely tightened.

3. Attached the enclosure to pole with metal clamps.



